ERUEETEZDRR

FEUE: 1350 mm BREET
AINE
. HEAERE B THAIER REE Bz A%
m | EEL| gt |EEL ()
1 | 223.790 223.79 3.29 68. 02
AV UEET 1 avy| EEL
ERE 223790 m|  EEL 223.790
BEL T
T4y 223.790 m (m/H) ()
BK 223.790 m 5 223.790 3.29 68. 02
ITENREERIEE)
i 466,990
1T ®
& B Ak Tk By # = B i ® % W E
B OR K E T = 1]101,088,187 | 101,088,187 |B-111
IMRANEREL =K 1 B-24
& & ® I = 1| 2957357 | 2957357 |B-34
BE-BBIEFEI = 1 367,081 367,081 [B-35
T AN ® FE T = 1 99,950 99,950 |B-36
# # K B I =K 1 B-28
ast m 223.8 104,512,575
TmHY m 1 466,990




B-111  EHET (RRR Rl &
% 101,088,187
1T ®
& B Ak Tk By = B i ® % W E
RSO —E m 22338 360,141 | 80,599,555 C-411
% &£ L o = m3 788 23226 | 18,302,088 C-3
= A & m 22338 5120 | 1,145856 C-109
& B H#h Gl 132 7.884 | 1,040,688 C-110
H 101,088,187
B-24  MHINEMET K i =
%
1 m
& B i N P B # = B i ® % W E
AR~ z 5% | b 1350mm m 11,167 C-4
B-34  {REK{ET S
i 2,957,357
1T ®
& B i N P B # = B i ® % W E
53 £ B E3il 1 476,510 476,510 C-103
IL—2 BRI RE 3 1 468,400 468,400 C-113
78 a BT 2 567,415 | 1,134,830 C-114
i ) Y 3 2 12,913 25,826 C-100
HEAKRIELSEE E3il 1 221,460 221,460 Cc-119
EEBKSI LRSS 3 1 53,302 53,302 C-121
w OE #® & =) 1 262,700 262,700 C-122
& % B & F =1
w O£ #® & o =) 1 234,150 234,150 C-124
I m E OB X
54 & H m3 11 2,289 25,179 C-117
wmOE W oo E m3 11 5,000 55,000
H 2,957,357




B-35 BE-BREEL £ i &
& 367,081
&
& B Redk - ~Tik B = =R i T %8 ¥ E
B 1E B B % & = 67,035 67,035 C-125
# = 5% fiw = 300,046 300,046 C-126
it 367,081
B-36 IARBI K i =
% 99,950
&
& B Redk - ~Tik B = =R i T %8 ¥ E
F A B 1% & 99,950 99,950 Cc-127
B 99,950
B-28 HHEKET i *
% 609,756
&
& B Redk - ~Tik B = =R i T %8 ¥ E
#H & HBH Kk B = 609,756 609,756 c-107

609,756




C-411  HHERBHI VY )—LE e
& 360,141 (ER)
1 m
(1 ] FAR-~Ti& Bl # = B & 2 W E
HERSGIVI—E = 1| 20,248,280 | 20,248,280 C-411-1
v PF % E I |EBL-EEL m D-411-1-1
v " % x I |MEEL m 223.8 11275 2523345 | D-411-1-2
m N % % I|Eeat-EEL: m D-411-2-1
oA % F I |MEEL m 223.8 45607 | 10,206,846 | D-411-2-2
mwon % %F T m 2238 13617 | 3,047,484 D-411-3
BREEBHRUENH = 1| 44573687 | 44573687 D-411-4
i m 223.8 80,599,642
Tm3LY m 1 360,141
C-411-1 EHERKFH V) —E R i *
& 20,248,280 SRR
1 m
(1 ] FAR-~Ti& Bl # = B & 2 W E
HEE Tk ARV -ME [JAS1-1350 X 2430 V. 54 161,000 | 8,694,000
o TRV ME [JAS1-1350 %2430 H5—7U & 1 150,000 150,000 Ri&
HEE Tk ARV -ME [JAS1-1350 X 1200 P 20 129,000 | 2,580,000 R
M T3k RfkFRIVY)-ME [JB51-1350 % 1200 . 58 136,000 [ 7.888,000 |Wy3MuhE Ri&
2 v ¥ 3 v #[FJ-20f% 90° t=10mm | #A 19 5,320 101,080 R
2w ¥ 3 v # [FJ-20f%F 90° +=30mm | #H 58 14,400 835,200 RiE
B 20,248,280
C-109 =AY £ i &
o 5,120
1 m
(1 ] FAR-~Ti& Bl # = B & 2 W E
ZE A b F A I|ZEL m 4,356 D-109-2-1
E A0 X A I(EEL m 2238 5,121 1,146,079 | D-109-2-2
B m 2238 1,146,079
TmZY m 1 5,120




c-110 &Hih i *
% 7,884
1 &R
& B Redk - ~Tik B = =R i T %8 ¥ E
B #h £ )L % L T & 7.884 7,884 D-110-1
B 7,884
c-3 FETNST i *
% 23,226
1 m3
& B Redk - ~Tik B = =R i T %8 ¥ E
B Kk a4 45 I m3 5,226 5,226 D-106-1
E E 2 A B m3 18,000 18,000
it 23,226
C-4 SOV —NEMERE i *
% 11,167
1 m
& B Redk - ~Tik B = =R i T %8 ¥ E
HEa - EHRERE | P 1350mm m 11,167 11,167 D-4-1
it 11,167
C-103 XEEET i *
% 476,510
1 =®
& B Redk - ~Tik B = =R i T %8 ¥ E
* E B ) & 476,510 476,510 D-103-2
it 476,510
C-113  HL—rfEasrs i *
% 468,400
1 &R
& B Redk - ~Tik B = =R i T %8 ¥ E
gL — v BB & 468,400 468,400 D-113-2

468,400




c-114 A R i *
& 567,415
&k
i ] RoAK-~ti& =2 v4 = B € % W E
iR u] T [E170) 1 567,415 567,415 D-114-2
B 567,415
c-100  #&tY R i *
& 12,913
=
i ] RoAK-~ti& =2 v4 = B € % W E
® # # W Y I [E170) 1 16,142 16,142 D-100~1
B OE 8 - Y T [E170) 1 9,685 9,685 D-100-2
it [E170) 2 25,827
1ERTHY 3l 1 12,913
C-119  EEREERIEAEE R i *
& 221,460
&k
i ] RoAK-~ti& =2 v4 = B € % W E
HERABBEMBET [E170) 1 221,460 221,460 D-119-1
i 221,460
C-121 RS LRASE R i *
& 53,302
1 ®
i ] RoAK-~ti& =2 v4 = B € % W E
WE#S LAZERET 3l 1 29,284 29,284 D-121-1
WE#S LAZERET 3l 1 17,469 17,469 D-121-2
2 B & 8 # = 1 5,695 5,695
B M =1 % 15 5,695 854
it &k 1 53,302
ERIED) &k 1 53,302

fisiEfl= 134t x 20 Hx 63 +

5,695

X 134 x 3,000 x 1.00




C-122  {EAEMIEST i *

% 262,700
1 &
& B Redk - ~Tik Hi W= =R i ® % ¥ E
B & & £ & T & 1 262,700 262,700 D-122-1
it 262,700
C-123  {E:EH R ERIEST i *
% 231,100
1 &
& B Redk - ~Tik Hi W= =R i ® % ¥ E
BEHMBTERE ST & 1 231,100 231,100 D-123-1
it 231,100
C-124  {EEHKRH i *
® 234,150
1 &
& B Redk - ~Tik Hi W= =R i ® % ¥ E
B O# # % £ I |[—& =1
B OE & B £ I |9 & 1 234,150 234,150 D-124-2
H & 1 234,150
1534y & 234,150
C-117 ik i *
® 2,289
1 m3
& B Redk - ~Tik Hi W= =R i ® % ¥ E
ka2 — R T m3 1 2,289 2,289 D-117-1
it 2289
C-125 BISECHRER(E i *
% 67,035
1 =®
& B Redk - ~Tik Hi W= =R i ® % ¥ E
BER® RHI % 1 67,035 67,035 D-125-1

it 67,035




C-126 KR i *
% 300,046
1 =®
& B Redk - ~Tik ==X v = =R i ® % ¥ E
oK % # I % 1 300,046 300,046 B-28
B 300,046
C-127  FA%E i *
% 99,950
1 =®
& B Redk - ~Tik ==X v = =R i ® % ¥ E
F OA KR OB T % 1 99,950 99,950 D-127-1
B 99,950
C-107  HEERKE i *
% 609,756
1 =®
& B Redk - ~Tik ==X v = =R i ® % ¥ E
R v 7 E & I =] 68 8,967 609,756 D-107-1

609,756




D-411-1-1 YIPE%£T R i *
& TEat-mEL
1 m
i ] FAR-~Ti& Bl # = B € % W E
E ST N A 1.0 21,500 21,500
it =] 1 21,500
Tm&HyY m 1
EEr A= m+ 329 m/AH = B
TmYY= 21500 x - m
D-411-1-2 YIPE%T R i *
% 11,275 T
1 m
i ] ik -~Ti& Bi # = B € % W E
E ST N A 1.0 21,500 21,500
ST | A 1.0 15,600 15,600
it =] 1 37,100
Tm3LY m 1 11,275
EEL A= 2238m ~ 329 m/H = 6802 H
1TmYY= 37100 x 6802 = 22380 m
D-411-2-1 JAEETL R i *
% 33,488 TEat-mEL
1 m
i ] FAR-~Ti& B = B € % W E
N ST ) A 1.0 22,200 22,200
E ST N A 1.0 21,500 21,500
ST | A 1.0 15,600 15,600
B # 2 332 39 12,948 E-411-2
5 OB OE R K|[EZBEL-EBZL m3 35 9,990 34965 | E-411-1-1
i M - % 5 59,300 2,965 | BB x &
B =] 1 110,178
TmlY) m 1 33488 | Et/B#E=E

EREAE= 101 ¢/m x 329 m/H
SEEREA= 1.07 m3/mx 329 m/H




D-411-2-2 JIRVEET K i &
% 45,607 T
1 m
i ] FAR-~Ti& B = B € % W E
PN A 1.0 22,200 22,200
E ST N A 1.0 21,500 21,500
ST | A 1.0 15,600 15,600
& # 2 500 39 19,500 E-411-2
5 OB OE R K |WEL m3 48 14,226 68,284 | E-411-1-2
B M - % 5 59,300 2,965 | BB xE
B H 1 150,049
TmLY) m 1 45607 | Et/B#=E
EAMEAE= 152 &/m X 329 m/B
EiEERK= 1445 m3/mx 329 m/H
EAGEAE= {0.34+03x% (G/100)40.7 x (G/100) "2} x 100 MEG= 549 %
= 676
TmYLEAS= 2137 x 0676 1.445
D-411-3 sMEZET R i *
& 13,617
1 m
i ] FAR-~Ti& B = B € % W E
¥ % E & F A 1.0 16,700 16,700
# % % £ B A 1.0 15,800 15,800
T & # % B A 1.0 12,300 12,300
B H 1 44,800
TmLY) m 1 13617 | &F/BE=
D-411-4 HWZIEEBHRUVELH R i *
& 44,573,687
1 m
i ] FAR-~Ti& B = B € % W E
£ h # = 1 576,020 576,020 | RIRETEE
MW ERH (1) = 1| 43063443 | 43063443 | RI#RKETE=
mHBEBAH(2) = 1 934,224 934224 | RIfRETEE
i 44,573,687




D-109-2-1 ZEAMIATL R i *
& 4,356 TEL-EEL
1 m
i ] FAR-~Ti& B = B € % W E
S A 1.0 22,200 22,200
ST | A 2.0 15,600 31,200
¥ % % % B A 1.0 15,800 15,800
T & # % B A 2.0 12,300 24,600
E A # # m3 3,434 15 51,510 | 1012 % 34m
B M - % 3 93,800 2814 | BB x &=
B H 1 148,124
Tm3L) m 1 4356 |t/ FAREE
D-109-2-2 ZEAMIAT R i *
& 5,121 T
1 m
i ] FAR-~Ti& B = B € % W E
S A 1.0 22,200 22,200
ST | A 2.0 15,600 31,200
¥ % % % B A 1.0 15,800 15,800
T & # % B A 2.0 12,300 24,600
E A # # m3 5,168 15 77520 | 1520 X 34m
B M - % 3 93,800 2814 | BB x &=
B H 1 174,134
I ED) m 1 5121 [§t/EABE=
D-110-1 HHEJSILL R i *
& 7,884
1 &R
i ] FAR-~Ti& B = B € % W E
S A 4.4 22,200 97,680
ST | A 441 15,600 687,960
£ L 42 L I|E&&12 m3 0.18 15,381 2,768 E-110-1
it &k 100 788,408
IEBED BT 1 7,884
D-106-1 iE/KMHT R i *
% 5,226
1 m3
i ] FAR-~Ti& B = B € % W E
EFRERBEEEGEE H 6.5 80,405 522,632 E-106-1
it m3 100 522,632
Tm3&L) m3 1 5,226




D-4-1 @O Y)—rEMET R i *
% 11,167
1 m

(1 ] FAR-~Ti& B = B & 2 W E
+ K — & # 5F & A 0.57 18,800 10,716
¥ % % % B A 1.14 15,800 18,012
T & % % B8 A 0.74 12,300 9,102
FSwo oL —2EH AEXI6LT H 1.86 39,500 73,470
B M - % 1 37,830 378 | HEBEE x &

it m 10 111,678
Tm3LY m 1 11,167
D-103-2 XEEET R i *
% 476,510
1 &

(1 ] FAR-~Ti& B = B & 2 W E
avy sy — kI m3 10.9 14,959 163,053 F-1
E) B T m2 13.6 5416 73,657 F-2
1y Iy -+ RiEL|ESAD m3 10.9 22,000 239,800

it &R 1 476,510

1ERTHY &R 1 476,510

D-113-2 YL—2E&kfEL R i *
% 468,400
1 &

(1 ] FAR-~Ti& B = B & 2 W E
+ K — & # 5F & A 3.0 18,800 56,400
¥ % % % B A 11.0 15,800 173,800
£ T A 3.0 15,300 45,900
T & % % B8 A 6.0 12,300 73,800
FSwo oL —2EH AEXIGLT H 3.0 39,500 118,500

i m 1 468,400
D-114-2 #HOT i
% 567,415
1 &

(1 ] FAR-~Ti& Bl # = B & 2 W E
¥ # H{ O I &R 1 568,476 568,476 E-114~1
B OEF W B I &R 1 566,355 566,355 E-114-2

it &k 2 1,134,831

1ERTHY &R 1 567,415




D-100-1 FEHEFLIWT £ i &
% 16,142
1 &
i ] FAR-~Ti& Bl # = B € % W E
Fi )| Y I (fAXtRIE m
i) 7)) Y I |ffKtRImE m
i 4] Y I |5M4F+—TL—hk m 14.0 1,153 16,142 | E-100-1-3
i ) Y T |/pEISTHT m
Hi 3l 1 16,142
1ERTHY 3l 1 16,142
HRROEYMER= x = m
MRROEYEER= x = m
FAT-7V-MIEER= 1 x 140 = 140 m
INUSTIIUIREER = X = m
D-100-2 E|EHEYVT R i *
% 9,685
&k
i ] FAR-~Ti& Bl # = B € % W E
Fi )| Y I (fAXtRIE m
i) 7)) Y I |ffKtRImE m
i 4] Y I |5M4F+—TL—hk m 8.4 1,153 9685 E-100-1-3
i ) Y T |/pEISTHT m
it &k 1 9,685
ERIED) &k 1 9,685
HRROEYMER= x = m
MRROEYEER= x = m
HAT-7V-MIEER= 1 X 84 = 84 m
INUSTIIUIREER = X = m
D-119-1 HEEFRAMBREMEET R i *
% 221,460
1 &
i ] FAR-~Ti& B = B € % W E
+ K — & # 5F & A 25 18,800 47,000
# % % £ B A 35 15,800 55,300
T & # % B A 5.0 12,300 61,500
R w # [#AEAR3.0m*x3cm X 21cm | m3 0.50 12,300 6,150 | 37,000/3[a]l{%
FMEIL—VEGE H 25 20,604 51,510 E-117-1
i 221,460




D-121-1 {EE#S I LASEHRET R i *
% 29,284
1 &
i ] FAR-~Ti& Bl # = B € % W E
W M ®B OE I t 1.34 21,854 29,284 E-103-1
B 29,284
D-121-2 {E#EMS| ERAZERET R i *
% 17,469
1 &

i ] FAR-~Ti& Bl # = B € % W E
oM W O x I t 1.34 13,037 17,469 E-103-2
B 17,469
D-122-1 {EEREET R i *

% 262,700
1T B
i ] FAR-~Ti& B = B € % W E
+ K — & # 5F & A 2.0 18,800 37,600
# % % £ B A 8.0 15,800 126,400
T & # % B A 4.0 12,300 49,200
FSy oo L —2 &R RERX5LE H 1.0 49,500 49,500
i 262,700
D-123-1 {EEWEERIEF T R i *
& 231,100
1T B
i ] FAR-~Ti& B = B € % W E
T K — B it F & A 2.0 18,800 37,600
# % % £ B A 6.0 15,800 94,800
T & # % B A 4.0 12,300 49,200
FSyooL—2 &R RERXSLH H 1.0 49,500 49,500
i 231,100




D-124-1 {EEHIENAT

K fli &

% 156,100 — Rl
1T B
i ] FAR-~Ti& B = B € % W E
+ K — & # 5F & A 1.0 18,800 18,800
# % % £ B A 4.0 15,800 63,200
T & # % B A 2.0 12,300 24,600
FSy oo L —2 &R RERX5LE H 1.0 49,500 49,500
i 156,100
D-124-2 {EEREET R i *
% 234,150 ZAN-E
1T B
i ] FAR-~Ti& B = B € % W E
T K — B it F & A 15 18,800 28,200
# % % £ B A 6.0 15,800 94,800
T & # % B A 3.0 12,300 36,900
FSyooL—2 &R RERXSLH =] 15 49,500 74,250
i 234,150
D-117-1  fstar o) —rElHT £ i &
% 2,289
1 m3
i ] FAR-~Ti& B = B € % W E
9L — v E & B H 1 20,604 20,604 E-117-1
it 20,604
1Tm3%Y m3 1 2,289 £1/9.0
D-125-1 B{EEc#REXmL £ i &
o 67,035
1 =K
i ] FAR-~Ti& B = B € % W E
g T A 0.9 15,300 13,770
g & 5 1@ 3 4,930 14,790
BEBEZILER m 518 40 20,720
B M - % 50 35,510 17,755 | BEE+EBfR x &
B 67,035




D-126-1 #KEEEL £ i &
% 300,046
1 =K
(1 ] FAR-~Ti& B = B & 2 W E
+ K — & # 5F & A 2.4 18,800 45,120
& & T A 4.8 14,400 69,120
T & % % B8 A 48 12,300 59,040
i = & # = 1 69,319 69,319
B M - % 30 69,319 20,795 | SAEER x &
R 77 v BEH = 1 15,575 15,575
BmR 772 E HAH kwh 1429 14.75 21,077
i 300,046
D-127-1 EAREL R i *
o 99,950
1 =K
(1 ] FAR-~Ti& B = B & 2 W E
+ K — & # 5F & A 1.0 18,800 18,800
A # T A 1.0 14,800 14,800
¥ % % % B A 1.0 15,800 15,800
£ T A 0.5 15,300 7,650
T & % % B8 A 2.0 12,300 24,600
FSws oL —2&H RER4NT H 0.6 30,500 18,300
i 99,950
D-107-1 R FiE#zT R i *
& 8,967 VEZERFHEK
1 H
(1 ] FAR-~Ti& B = B & 2 W E
¥ % % % B A 0.14 15,800 2,212
L2 |/ Sha—JLEsiE 2 26 107 2,782
B ok K v 7 & # [OFE50mm H 1.2 265 318
% 8 % T & B M [20KVA H 1.2 2,900 3,480
B M =1 % 2 8,792 175 | LEB&ETEE <
i 8,967




E-411-1-1 SEREIREK £ i &
& 9,990 TEat-mEL
m3
i ] FAR-~Ti& B = B & 2 W E
) x 5 + kg 240 23 5520 (R¥&
c M c |FILta—X kg 1.8 760 1,368
B B # |95 A—IL kg 10 288 2,880
7K m3 0.89 250 222
B m3 1 9,990
E-411-1-2 &EREIEK £ i &
& 14,226 T
m3
i ] FAR-~Ti& B = B & 2 W E
# *x 5 o kg 360 23 8,280 |R1&
c M c |[FiLta—X kg 3.0 760 2,280
B B # |95 A—IL kg 12 288 3,456
7K m3 0.84 250 210
B m3 1 14,226
E-411-2 ;B#% R i *
& 39
2
i ] FAR-~Ti& B = B & 2 W E
R v b F A4 b [#250 t 0.1 31,900 3,190
T v K & 14 1L 2 40 765 30,600
N « s T kg 2 2,020 4,040
B # |FILEa—X 2 2 760 1,520
7K m3 0.9 250 225
B m3 1 39,575
TED 2 1 39
E-109-2 ZEADHMEY R i *
% 15
2
i ] FAR-~Ti& B = B & 2 W E
+ * > b & EZERLMUY t 0.50 17,800 8,900
725 47 v L o1l|%W t 0.25 9,550 2,387
R v b F 4 b [#250 t 0.10 31,900 3,190
™ (] m3 0.19 2,700 513
o R #l |7RJ1) ANo.8 kg 2.00 270 540
7K m3 0.60 250 150
it m3 1 15,680
ED) ] 1 15




E-110-1 EIJIL4ILT R i *
& 15,381 Bs1:2
1 m3
(1 ] FAR-~Ti& ==1ivs = B & 2 W E
+ * v b & EZERLMUY t 0.72 17,800 12,816
b m3 0.95 2,700 2,565
B 15,381
E-106-1 ;HiEkiiEEiRE R i *
% 80,405 8 t=
1 H
(1 ] FAR-~Ti& E-Tivi =4 B & 2 W E
- B E & F A 1 14,800 14,800
8% o[/ kO—)Laim ) 95 107 10,165
EF R R OBE E B O |stE A 1.44 38,500 55,440
i 80,405
E-117-1 PRI — &R E R i *
% 20,604
1 H
(1 ] FAR-~Ti& E-Tivi =4 B & 2 W E
¥ % E & F A 1 16,700 16,700
S h # kwh 13.2 14.75 194
P& SL — > 48 |5Tx6M H 1 3,710 3,710
i 20,604
E-114-1 FEHIOT £ i &
% 568,476
1 &R
(1 ] FAR-~Ti& E-Tivi =4 B & 2 W E
T & % % B8 A 1.1 12,300 13,530
% & i O Ik & W #8 1 433,000 433,000
w oM B3 B I m 6.4 1,765 11,296 E-98-1
avy sy — kI m3 2.1 14,959 31,413 F-1
E) B T m3 6.1 5416 33,037 F-2
1y 4y -+ B L |ESAD m3 2.1 22,000 46,200
i 568,476




E-114-2 FEHROT R i *
& 566,355
1 &
i ] FAR-~Ti& B = B € % W E
T @& % % B A 1.1 12,300 13,530
% & i O Ik & W #8 1 541,000 541,000
w oM B3 B I m 6.7 1,765 11,825 E-98-1
B 566,355
E-98-1 #fi#iaET R i *
% 1,765
1 m
i ] FAR-~Ti& B = B € % W E
+ K — & # 5F & A 0.010 18,800 188
A = T A 0.076 14,800 1,124
T & # % B A 0.021 12,300 258
£ h # kwh 2.7 14.75 39
P # % (P LRk kg 0.4 270 108
BB OB B #2504 =] 0.076 222 16
B M - % 30 108 32 | BEEERE < E
B 1,765
E-100-1-1 YU £ i &
# 1,368 fHRAR O EY
1 m
i ] FAR-~Ti& B = B € % W E
+ K — & # 5F & A 0.007 18,800 131
A = T A 0.057 14,800 843
T & # % B A 0.022 12,300 270
B M - % 10 1,244 124 | BB x %=
B 1 1,368
E-100-1-2 YU £ i &
# 1,422 AR EY
1 m
i ] FAR-~Ti& B = B € % W E
T K — B it F & A 0.008 18,800 150
A = T A 0.059 14,800 873
T & # % B A 0.022 12,300 270
B M - % 10 1,293 129 | BB xE
B 1 1,422




E-100-1-3 $#EYIYTL R i *
& 1,153 S14F—TL—k
1 m
i ] RoAK-~ti& =2 v4 = B € % W E
T R — 8t F & A 0.006 18,800 112
A = T A 0.051 14,800 754
T & # % B A 0.019 12,300 233
B M =1 % 5 1,099 54 | BB xE
B 1 1,153
E-100-1-4 $#EYIYTL R i *
% 1,422 INBYST I
1 m
i ] RoAK-~ti& =2 v4 = B € % W E
T K — B it F & A 0.008 18,800 150
A = T A 0.059 14,800 873
T & # % B A 0.022 12,300 270
B M =1 % 10 1,293 129 | BB xE
B 1 1,422
E-103-1 $AMEEHRETL R i *
% 21,854
1t
i ] RoAK-~ti& =2 v4 = B € % W E
T R — 8t F & A 1.7 18,800 31,960
& w T A 3.2 16,000 51,200
A = T A 1.7 14,800 25,160
T & # % B A 1.7 12,300 20,910
377L-viL-vEH [HEX25tH B 1.7 49,500 84,150
B M - % 4 129,230 5169 | HIEEET x &
it t 10 218,549
1t3HY t 1 21,854
E-103-2 $A##EET R i *
% 13,037
1t
p. 92
i ] RoAK-~ti& =2 v4 = B € % W E
T K — B it F & A 1.0 18,800 18,800
& w T A 1.9 16,000 30,400
A = T A 1.0 14,800 14,800
T & # % B A 1.0 12,300 12,300
377b-viL-vEH [HEX25tFH =] 1.0 49,500 49,500
i M =1 % 6 76,300 4578 | BB x &
it t 10 130,378
1ty t 1 13,037




F-1 | 0)— N DITER S
& 14,959
1 m3
i H RoAK-~ti& =2 v4 = B € % W E
T K — & i 5F & A 0.57 18,800 10,716
¥ % % % B A 0.79 15,800 12,482
T B # % B A 1.25 12,300 15,375
£ a2 > 2 Y — k[18-8-40 m3 104 10,000 104,000
E & T = 1 4,317 4,317 |[F-1-1
G H# & % 7 38,573 2,700 |F#&EEt x 2
B m3 10 149,590
1 m 3 | Y m3 1 14,959
F-1-1 BET (—EES) S
% 4317 |~ o) —+
10 m3
i H RoAK-~ti& =2 v4 = B € % W E
T B # % B A 0.3 12,300 3,690
G H# & % 17 3,690 627 | FHEET xE
B m3 1 4317
F-2  #RT Ml &
& 9,416 BEEEY
1 m2
i H RoAK-~ti& =2 v4 = B € % W E
+ K — & # 5 & A 3.1 18,800 58,280
i) e T A 15.7 16,500 259,050
T B # % B A 10.0 12,300 123,000
G H# & % 23 440,330 101,275 | H &t x =
Hi m2 100 541,605
Tm2L) m2 1 5,416




HEEZBBBEER

ETEER

ERER

E R — %51 " ” — Bz A% | EEz A
Bz B# R RER THA HEERE | Dvux | L—> a0 | E=an
(3.0x0.6)
IL— HRERET 1.80 1.4 25
XEEE
BT 1.4 (0.0)
XEEE
19— I (EER) 1.4 (0.0)
(2.5 %0.6)
T M ZRsRE T 1.50 1.4 2.1
EEENT 2.00 14 28| T T
ERAHEET 68.00 1.4 95.2 O
EAHIATL 6.60 1.4 9.2 X X e)
BREZ 0.00 1.4 0.0
EESET 1.00 1.4 14| T x x
(2.5x%0.4)
R e =T 1.00 1.4 1.4
XEEE
19— MRIEL T 1.4 (0.0)
(3.0x0.4)
IL—HREHET 1.20 1.4 1.7
. HABE | HABH | HHAE | EEEH | AR
g 99.4 101.5 114.9 68.0 9.2
FELTN=ES
6.6




FER H1 B B YRR B

R ETER = 2238 m

TELHELR = m

BT HELR = 2238 m

e Iy T 44 T 44
whoRS | e | e | | Gy

T 5.6 6.2 6.2 124
BEIRA RN 18 14 14 2.8
PRI —2 (RIK) 16 12 12 2.4
ZE Doy (i) 56 6.2 6.2 12.4
TSIRR T GBRD 56 6.2 6.2 124
TII3%Y GB#H) 5.8 6.4 6.4 12.8
IR TSURCGER) 0.2 0.1 0.1 0.2
TR T () 29 2.9 2.9 -
TR Y (FRA) 4.1 4.1 41 -
IR TIUNER) 0.6 0.6 0.6 -
avJLyt 5.8 6.4 6.4 12.8
e B 6 58 6.4 6.4 12.8
T RU T (ERERK) 58 6.4 6.4 128
TIOREFY (BRERK) 7.0 7.0 7.0 140
kR T 1.1 1.2 1.2 2.4




